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Tag mode

»Tag mode:
»D% - Kt
»D° » K~ntnf
»D0 - K ntntn™
»Dt > K mntn?
»Signal mode:
>D% > Kdntm™
>D° - Kdntn
>D% — KJn°
>Dt - Kdnt
>Dt - Kdmtm®
>Dt > Kdntntn™



Fvent Selection

Based on DTagAlg Package in BOSS 710

> Good charged tracks: > Missing K2 Candidates :
AR <1 <0. 3 3
V| < 10cm, |ny| < 10cm, |cos@| < 0.93 > Pygp = E2 _ — M2 Psigp = —Pp;

» Good Photons: » P, track in signal mode except K (such as n*r?)
> Barrel : E, > 0.025GeV, |cos6| < 0.8 > M, =

> Endcap : E, > 0.05GeV, 0.84 < [cosf| < 0.92
» Timecut: 0= T=< 14 (in unit of 50 ns);

2 2
» |dang|> 10°; S S
E eam ~ E T — Psi — P T
» PID (Particle ID Package): < ’ z ‘ k) ( P 2 t k)

» TOF + dE/dx N B
> Pion : prob(m) > prob(K); > AM = Mpiss — M

Ks

> Kaon: prob(K) > prob(m): » Minimum AM is used to select best candidate
> ° Candidates : > Vertex Fit Candidates of K2 :
> 0 0.115<M(yy)<0.150 GeV/c?, X2,.<200; » Reconstructed by 7™
> Tag D Reconstruction: » AMEgig = Esigp — Epeam » Mpcsig = JEZeam —P %
> AE = Ep — Eppam » Mpe = | E2 _ F’lz) » Minimum AEg; 4 is used to select best candidate
4 eam

» AEgg, cut: no m°: (—0.025,0.025) GeV
with % (—0.055,0.040) GeV

» D% 1.86 < Mpg;5 < 1.87 GeV/c?
D*: 1.865 < Mpgi5 < 1.875 GeV/c?

> AE cut: no 7% (—0.025,0.025) GeV
with 7% (—0.055,0.040) GeV

> D%: 1.86 < M, < 1.87 GeV/c?
D*: 1.865 < M, < 1.875 GeV/c?



Vertex fit
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Refine Vertex fit
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Vertex fit with Refine Vertex Tit
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